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1. BEEROE
(1) BEINE

EARBEERE 36, 000 36, 000 0 0 0 36, 000
EARUEZIAR 36, 000 36, 000 0 0 0 36, 000
HEEEERKE 10, 000 10, 000 0 0 0 10, 000
HEEEZIAR 10, 000 10, 000 0 0 0 10, 000
EEIRE 3, 856, 000 3, 856, 000 0 0 0 3, 856, 000
BLEFSH 2 —BEIRE 2,146, 000 2,146, 000 0 0 0 2,146, 000
BEEEINE 670, 000 670, 000 0 0 0 670, 000
HEEINE 110, 000 110, 000 0 0 0 110, 000
ZDhEFINE 930, 000 930, 000 0 0 0 930, 000
YR—,RT—2a B EINE 0 0 0 0 0 0
B FUNE 6, 400, 000 6, 400, 000 0 0 0 6, 400, 000
RETZNESE 300, 000 300, 000 0 0 0 300, 000
REZREE 5, 500, 000 5, 500, 000 0 0 0 5, 500, 000

Z D ZEFEEE 600, 000 600, 000 0 0 0 600, 000
ZEZEEM 370, 069, 000 370, 069, 000 36, 468, 000 36, 468, 000 11, 505, 000 418,042, 000
RN ELEEH 22N 318, 980, 000 318, 980, 000 36, 468, 000 36, 468, 000 9, 500, 000 364, 948, 000
YR—RT—2aViEEZEH (E) 43,079, 000 43,079, 000 0 0 905, 000 43,984, 000
YR—FRT—2a B EZEEH (F) 5,760, 000 5,760, 000 0 0 600, 000 6, 360, 000

T DTN 2,250, 000 2,250, 000 0 0 500, 000 2,750, 000
ZmMHEFE 1,500, 000 1,500, 000 0 0 0 1,500, 000
ZMESE 1,500, 000 1,500, 000 0 0 0 1,500, 000
UREE 401, 000 401, 000 0 0 0 401, 000
FI1mil 48 25 {58 FA IR 28 300, 000 300, 000 0 0 0 300, 000
ZEFE 1,000 1,000 0 0 0 1,000
HEURAE 100, 000 100, 000 0 0 0 100, 000
Bavisst 382,272,000\ 382,272,000 36,468,000 36,468,000 11,505 000 430, 245, 000
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(2)REER
=X 384, 845, 000 384, 845, 000 35, 418,000 35, 418, 000 420, 263, 000
& RN 3,760, 000 3,760, 000 0 0 3,760, 000
BHFY 181, 693, 000 181, 693, 000 17,762, 000 17,762, 000 199, 455, 000
BHEER 38, 947, 000 38, 947, 000 4,281, 000 4,281,000 43, 228, 000
BB B 0 0 0 0 0
BEREEE 35,108, 000 35,108, 000 2,149, 000 2, 149, 000 37,257, 000
= 129, 000 129, 000 0 0 129, 000
REXBER 6, 630, 000 6, 630, 000 0 0 6, 630, 000
BEERE 3, 640, 000 3, 640, 000 158, 000 158, 000 3,798, 000
HEMBRERE 294,000 294, 000 6,000 6, 000 300, 000
HIERE 7,445, 000 7,445, 000 171, 000 171, 000 7,616, 000
1EHERE 125, 000 125, 000 0 0 125, 000
RIEES X = 2,667, 000 2,667, 000 56, 000 56, 000 2,723,000
HEKE 20, 103, 000 20, 103, 000 4,081, 000 4,081, 000 24,184, 000
&M 5,051, 000 5,051, 000 148, 000 148, 000 5,199, 000
R 757,000 757,000 22,000 22,000 779, 000
HEHE 9,577, 000 9,577,000 0 0 9,577,000
XILFHoE 1,822,000 1,822,000 12, 000 12, 000 1,834,000
MABAR 23,145,000 23,145, 000 2,096, 000 2,096, 000 25,241, 000
XIhREE 467,000 467, 000 0 0 467, 000
E - 23, 640, 000 23, 640, 000 2,155, 000 2, 155, 000 25,795, 000
HE 58, 000 58, 000 0 0 58, 000
HmENE 545, 000 545, 000 55, 000 55,000 600, 000
B55I4ERAHE 13, 357, 000 13, 357, 000 1,551,000 1,551, 000 14,908, 000
REHRESIDERA 5, 885, 000 5, 885, 000 715, 000 715,000 6, 600, 000
EER 9, 982, 000 9, 982, 000
% & A 1,271,000 1,271,000
BTy 1,072,000 1,072,000
BHELE 587, 000 587, 000
XIhREE 217,000 217,000
BB A 0 0
BREEE 1,170, 000 1,170, 000
£+ 20, 000 20, 000
RERBER 20, 000 20, 000
BEERE 86, 000 86, 000
HFEH AR 0 0
HFERE 100, 000 100, 000
EHEE 0 0
RIS A2 10, 000 10, 000
REKE 0 0
BEH 170, 000 170, 000
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RER A 0 0
EHe 0 0
XIFEH 20, 000 20, 000
Eit® 2,930, 000 2,930, 000
ARAR 1,714, 000 1,714,000
XEE 100, 000 100, 000
HE 50, 000 50, 000
BATE RN 0 0
BIMEESHERE 0 0
BS54 A% 445, 000 445, 000
BEEREH 384,845,000 384, 845, 000 35, 418, 000 35, 418, 000 9,982,000 430, 245, 000
S48 £ 2R B AT L HAE B 1R IRA 0 0 0
ARG ETERESE 0
HEEETEERS 0
RERMIES MRS E 0
BalitEaE 0
LR EISRELE A 2,573,000 A 2,573,000 1,050, 000 1, 050, 000 1,523, 000 0
2. BESMERDE
(1) BESMREE
Y i R 0 0 0
BEE MR 0 0 0 0 0 0
(2)EFENER
EHE R R R M A 0
254k S R & A48 0
HEFERBRER 0
HEESRALE 0
BENERE 0 0 0 0 0 0
LIRS R 0 0 0 0 0 0
ftheEHREEE 0
L — AR IERRBAEE S REA A 2,573,000 A 2,573,000 1,050, 000 1,050, 000 1,523, 000 0
—RERMESREERS 0
— R ERBESRES
I {EEEREERBEDE
ZHHNEE
—RIERBIEE~ DIREEE
L HAYR T IE Rk EE 1R AR
EEERMENRERS 30, 000, 000 30, 000, 000 0 0 0 30, 000, 000
B E ERBESRES 30, 000, 000 30, 000, 000 0 0 0 30, 000, 000
I EBREAEHRES 30, 000, 000 30, 000, 000 0 0 0 30, 000, 000
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